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Topic

Topics to be Covered

SCIENTIFIC RESARIn - Sec 35
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Topic: Additional Depreciator ,

*
TYK2 op WDX 42 .50L
-

-

I Asset Acquired
Ne &

. IM (nas 10 .002a

sin P/M (FR) 9004

- sold -

21 : WDY 3 13124 61 . 50h
·

ND HR 102 X 7 .5 % 75000
-

Fr 51 .502X15 % 772500

AD 102 X 10% 1 ,00 ,000

computer MD 2 1x40% 80000

A 21 X 20% 40000

&



SAIR OF SCIENTIFIC RESEARCH Assist

SASK1 wo being put to use for any other purpose in Business
-

(a) Sale Valve ! Actual cost- sale Valve is D .Income

(b) Sale value > Actual cost > Actual lost is Income
~ sale value -

-- COA/ICOA -
-sta ->-

Mach. Purch = 114,0 forsi ex 1500000
942020-21 = 5-35 de alloway = 1500000

InDy of Mach= MiL

Machine Soly (a) =400000 is D . Income

(b) 16 ,00 ,000 >52= Bilecome
&

12 = cap . Lau



CASK2 After Burg Dur to use for otherPurposes in Dusness-

⑭ Add to block to which it belongs & MIL VALUE

spe whe Such Asset (SRAset) is sold , the sale value

is decuctey from Boc

in Normal Block of Asset concept Is to be follower
↑ Y 21-22 = 102Del

eq
* Mr.x Purchand Poch for Fl0C on 1421 for Sa

9 -35

-
* 11-X &ut to use SR Mach for bunness was on 14123
* Da 31124 this Pach is sold for $300000-
* other details :

Prot byore dep 10423-24) 9500000

op way of block (114123 * 1,00 ,000

show tou Implication -> Dep ?
PUMP ?

Assume -> Sale of SR Asset= 9 ,00 ,000



-I Bloc 15%

Profit by. Dep 5 ,00 ,000 op WDV +100 ,000
↑ SR ASSet NIL

- Dep 60 1000
- R Sold 13 ,00 ,000)

CI .WDV 3 113124 4 ,00 1000
&ae 4 ,401000
-
-

Dep = 400000x 15% = 60 ,000

I Bloc 15%

Profit by. Dep 5 ,00 ,000 op WDV +100 ,000
↑ SR ASSet NIL

- Dep
NIL

- R Sold 17100 ,000)

CI .WDV 3 113124 MIL
&ae 5 ,00 , 000

Dep= M1L

stay u/s 50

Sy-Block value

92-42 2,00 ,000

4+1 1 ,00 ,000
-

--



&9 (A) Alth Burg Put to on in Dunnu
- &lOU 15%

Pryet By dep 401001000 op WDV 60 1001000

I SR Asset N12

1) Dep 4 ,05000 - se sold 33 ,001000

PGBP 35 ,95 ,000 C . WDX 271001000

Dep 27x 15% 405000

(B) wo put to un in Bunne

PGP Block 15%

Pryst by 4
DD 40100 ,000 op Wov 60 100 ,000

Sale of SR Asset t Acq :
-

·Actual cost] 30,00 ,000 - sold -

1- Dep 19,00 ,000/ 21 .WDV 60 100 ,000
-

61100 ,000 D
ep
601x15% 9 ,00 ,000

win u
Sale Value 3300000

1-> Act cost 3.0 ,00 ,000 300000

4+1 64,00 ,000
-
-



SECTION 35 AD SPECIFIED BUSINESSES

R. Rep > Dr - to PK Ac I GreMIRAL
cresp > Dep Dr . to&I

R . Exp - Pie
C . Emp - 100% Dr . to DI

X

1- No Mee to claim Dup up 32

L concept Gw , land , Financial Instrument
Paymut Made to A person
In A Day excery 10 ,000 Mote'-
In Aggreg

,
emp Incrrey Byoreate

commencement ofto to Buviness
,
shall be

Yes MO is up to =10000 anowe is year ofA Er Aggregat comm - of Business
S My M10de Hput Grovided Such Exp
otherwise entire Payment Any Mode car in B. 0. A .citalsel
Disallowed ↳ As A Asset Recorde



Asset Acquire for spenfey Dunne -> 100% dey Allow ups 35AD

X

use is spenfey Dunneu>8 Ay
↓
otherwise

, year in which such Asset is sold or put to use for

non-speters.unew the Bunnex Income shall be calculatio
As

Become = Cost of Ast
- Depreciation

14122
=

84r
3 13/30

⑧ I

Sp . Bonne
15/7/25

&In &
uch Nach - Sold

= qFOC
=allow /35As = 6502

cost 10 100 ,000

Dep 22-23 1 ,50,000

850000

Dep 23-2 124500 Dep = 385875--
722500

Dep 24-25 108375

614125



&y 25-26

Dunness Income -> Post ofAsct-Dep122-23 to 24-25)
=> 101 - 385875 => 614125

⑭c / 50 stay= Sv-wOv
=> 650000-614125
= 35875

013 Default Regine
-

I

Prot syore Dep 40 ,00 ,000

1) Dep Pach 102X 15% =150000

Mach 62x 7 .5 % = 45000

Building 4 x 10%0 - 40000

Build 191x 10% - 190000 4 , 25,000

&UBP
-

> 3575000

Note !-S-35 is now availabl order default Regine- &

·l ~ is allower or cap . depBy



Old Refine
=

9
Part by cap ecrrey for sp . bunnec 40,00 1000

1-3 Cremp incurred rexcept lord/ 4/WIFI 39100 ,000

&GBP > 1 ,00 ,000
-
-

Di Old Read
- KAREHOUSING

fu sugar Edold

Profit by . S-35AD/S-32 162 IUL zih

9.35AD deluchor
By COMM 2 · rep 13021 2013bos

-

During By 1102) E -

S :32 Deprecation (321 x 10%)
- - (3 . 201)

0&413P / 1242 3 12621
,

27 .SOL

Note: Specifie B : 10s3 allower to be set of only Againsta

Profit of sp . bunness .



sp - buccess los <If for elinity period .

sp . Busine las = 242+ 261 = 501= CIf

Pate Income= =24 ·802



2 mins Summary

Topic

Topic

Deprecation/Scletfuc Research .

&weston
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